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SECTION A (20 marks)

Questions 1 to 10 darry 1 mark each.

Questions 11 to 15|carry 2 marks each.

For each question, four options are given. One of them is the correct answer.

Make your choice ({1, 2, 3 or 4). Shade the correct oval on the Optical Answer
Sheet.

1. The odometer 6f a car shows 15 4905km. Approximately how many thousand
kilometres is that?

(1) 15 40Dkm
(2) 15 500km
(3) 15 00Dkm
{(4) 16 00Dkm

3
2. Express 27 kmn metres.

{1} 2.75m
(2) 27.5m
{3) 275m

(4) 2750m

3. 2
5 of a class of 40 pupils are girls. There are _ boys in the class.
(1) 40
(2) 24
{3) 16

(4) 8




.C)

1
Xy is the|same as

(1) 0.1
(2) 02
(3) 10
(4) 20

Round off 67.478 to the nearest hundredth.

(1) 674
(2) GTJ?
(3) 6748
(4) 874

The ratio of Tom's money to Patrick’s money is 4:7. They have $99 altogether.
How much mdnizy has Patrick?

(1) 39
(2) 11
(3)  $63
(4) - $77

6 pairs of gloves cost $15. How many pairs of gloves can you buy with $1057

(1) 7

(2) 42
(3) 90
(4) 120




- 10.

_4

(1) 5
(2) 2
(3) 3
(4) 11

What is the area

A

——

3
27 expressed &s a ratio is [ _J 14

of the shaded triangle ADE?

B C

i
i

wﬁI:PT\KW\\\ 6cm

F 4om & Scm D

(1) 36 cm
(2) 24 cm?
(3) 16 cm?
(4) 12 om?

There weré 2 501
spectators increa
the soccer match

(1) 3000
(2) 2000
(3) 500
(4) 20

sed by 20% on Saturday. There were
on Saturday.

) spectators at a soccer match on Friday. The number of

spectators at



1.

12.

13.

6 868 people tuok part in a walkathon. Of these, 623 people gave up after the 15

hour. Another 5 of the remaining people gave up after the 2™ hour. The rest
completed the walkathon. How many people completed the walkathon?

(1)
(2)
(3)
{(4)

1248
1872
4 996
6 245

The 2 circles below are identical in size. Each of them is divided into equal parts.
What fraction of the 2 circles is shaded? . .

l’-J\ :]b-'v I‘w grm

]

A piece of ribbon 12.96 m long is cut into 4 pieces. The length of the first 3 pieces

(1)
(2)
(3)
(4)

- Is 3.05m each. What is the length of the fourth piece of ribbon?

3.24m
3.8 m
918 m

9.72m




14. Desmond and Joshua share some st.ckers. For every 4 stickers Desmond gets,
Joshua gets 3 stickers. If Desmond ¢ ets 56 stickers, how many stickers are there

altogether?
(1) o8
(2) 42
(3) 14
(4) 7

15. The figure below shows a paralielogram ABCD. When the shaded parts are cut
off, the remaining area is 24 cm? What is the area of each shaded part?

Z2cm

< .

(1) & cm?®
(2) 8 cm?
(3) 24 cm?
(4) 4 cm?
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SECTION B

Mental Sums{ 5 marks ]

Questions 16 to 20 carry 1 mark each. Listen carefully and write the answers in
the blanks provided.

16. %

17. ] CFh

18. . namecasds
1. %
20Q. kg




Questions 21 to 25 ¢
provided. For questi
stated. (5 marks)

21. Find the value o

22. Aclockloses 10
after one day?

23. A sum of money
What percentage

-arry 1 mark each. Write your answers in the spaces
ons which require units, give your answers in the units

[ 30 + 14 —(42+6)

Ans:

seconds for evary hour. How many minutes slow will the clock be

Ans: Tin

was divided between Jack and Kenny in the ratio 1: 4.
of the money did Kenny receive?

Ans: %

Q)



24. Malika saves g of her salary eve

i}

ry menth. What percentage of her salary does
she save each monin?

Ans: %

ql ’ . .
25, Aflask holds “! litres of syrup. It is poured into 5 similar cups.

The capacity of ach cup-is

Ans: fitres




Questions 26 to 35

carry 2 marks each. Show your workings clearly in the space

below each question and write your answers in the spaces provided. For
questions which |Lequire units, give your answers in the units stated. (20 marks)

26. The sum of thie

page number: of two facing pages of a book is 265,

What are the two page numbers?

Ans:

27. In the diagram below, the nurabers are related in some ways.
What is the value of m 2

—

48 | 16 3’ 81 24

Ans:

L0




28. Whatis the

difference in value between A and B?

29. The figure be
shaded area.

M | B |
=
3 * 3.5 T 4

Ans:

low is not drawn to scale The unshaded areais 1 % times -2
Find the area of the whole figure.

Ans:

10

cm-



30. The ratio of K\
Their total age

31. The ratio of the
at a cinema is &

32. Mrs Tan made 2
tarts. The adults

umar’s age to his father's age nowis 1 - 5.
is 48 years old. How old will Kurnar be in 2 years’ time?

Ans: yezrs ol

number of men to the number of women to the number of criidren
3:5:2 respectively. What is the percentag=s of women at the cirema?

Ans: °

25 pineappie tarts for the new year. The children ate -53- of the

ate 48 of them. How many tarts were left?

Ans: . tarts

11




33. Inthe diagre
Rod X asia

ym-b 2 m — of Rod X'is joined to 7;— of Rod Y. Express the !ength of

fraction oﬁRoo Y.

Rod X

34. 2 watches an
of 4 such wat

35. Theareaofa
What is the ra
Give your ans

] l

Rod Y

Ans;

¢l & ring cost $540. if & watch

and a ring cost $380, what is the cost
ches?

Ans: $

square is 16 cm®. The perimeter of an equilateral triangle is 48 cm.

tio of the side of the equilateral triangle to the side of the square?
wer in its simplest form.

Ans:

/3




Section C (50 m

arks)

For questions 3
each question a
The number of 4
qurestion or part

36.

37.

The differert
valuie of the|s
each symbol.

The perimeter
a) Find the diff
b) What is the

6 to 48, show your workings clearly in the Space provided for
hd write your answers in the spaces provided.

narks available is shown in the brackets [ 1 at the end of each
rquestion.

Symbols shown in the table below all have different values. The total
ymbols in each row and in each column is given. Find the value of

of square X is 20 om. The perimeter of sSquare Y is 48 cm.
erence in length of each side of the squares.
total area of X ang 2

Answer: a) f1]
_

b) —_— 7]

13

4




38.

39.

A farmer has a farm which is 25 metres Ic1g. The width of the farm is half its

length. He
The wire is
What is the

The figure b
The areas o
an area of 1

buys 4 similar roll's of wire to make a fence round the fam.

exactly enough for him to go round the farm with 0.6m left over.,
length of each roll of wire?

Answer: 131

elow shows a rectangle divided into 4 parts A, B, C and D,

"A. B and Carein the ratio 8 21 -4 respectively. C is a square with
ocm©. Find the area of rectangle D.

Answer: [3]

14

/S




40.

41,

Benny and C
and Carol sp
money did ez

G tailors can s
speed, how m

arol shared a sumn of $640. After Benny had spent 0.4 of his mor.2y

ent $140, they each had the same amount of money left. Hovs imuch
ich one of them have at first? :

Answer: (3]

ew 36 pairs of pants in 3 days. If all the tailors sew st the sarrs
can 9 tailors sew in 8 days?

any pairs of pants

15

Answer: (3]

/b



3 - |
42.  Lily paid $54 for a bag. She spent z of the remaining money on a ski+ and the
rest of her money on a blouse. he blouse cost 2

5% of the total amourt of mongy
that she had. How much rmorney had she at first?

Answer: [}




43.

The mass of a tank filled with sand was 16.47kg. Peter poured out half of the
sand and weighed it. He found that the mass of the sand which was poured out
was 4 times the mass of the tank when it was empty. Later, he poured the

remaining san
the tank.

a) How many,
b} What was

d in the tank equally into 2-kg boxes and still had some sand left in

2-kg hoxes of sand were there?

the mass of the and the sand that remained in the pe;i?
Tank

Answer: a) [3]

b) 1]

17

s




44.

30% of the seats in a cinema were red and the rest were blue. When the number
of red seats was decreased hy 25% and the number of blue ones increased by
half, Guo Liang found that there were 56 seats more. How many seats were there

in the cinema at first?

18

Answer:

[4]




On 2 Aprif Mr|Lee withc raw 40% of his savings from the bank. He spent $370 and
had $150 left] At the end of the month, he deposited 30% of his salary in the bank
and his savings became $1 410. . : .

Auch
a) How :nbéfqy savingshad he left in the bank on 2 April?
b} What was|his monthly salary?

Answer: a) ‘ 21

b) @

19




48.

There are 156 rambutans, some durians, mangosteens and pears at a fruit stali.
The ratio of the number of rambutans te ths number of duriansis 2: 5, The ratio
of the number of mangosteens to the number of pearsis 3: 7.

a) If there is an equal number cf rambutans and mangosteens at the stall, how
many pears are therg?

b) What fraction of the fruits is mangosteens?

3
Answer: a) [2]
b) i3]

2

20

27




7.

Paul and James had $510 gt

and James s
left,
a} How m
b) How m

gether. Paul
nt 756% of his money. Then

iuch rioriey had James at first?
iuch money did Paul give to his father?

21

Answer:

gave 40% of his money to his father
they had an equal amount of money

)’}’ "‘ i



a) Study the pattern below carefully -

Pattemn 1: ¥ J g J

Pattern 2: * X JdJddd o

Pattem 3: #® X X S o d o d g I

Pattern 4: £ X B R oA S J I o g g I o
Complete the table below by fiting in the brackets:
{ 3 B Total number | Difference between

of objects 6 and 4

Pattern 1 1 3 ' 4 2

Pattern 2 2 5 7 3 |

Pattern 3 3 7 10 4 |

Pattern 4 4 9 13 5

Pattemn 5 5 t ) 16 6 [1]

|
Pattern 20 20 ) { ) 21 (2]
b) In which.pattern are there 39 more Jthan 387
Answer: b) [2]
End of Paper
22
>3




Nan Hua Primary School

Primary 6 Maths CA1 Exams (2006)

Answer Sheets
Q1 Q2 Q3 Q4 Q5
3 4 2 1 3
Q6 Q7 Q8 Q9 Q10
3 2 4 2 1
Q11 Q12 Q13 Q14 Q15
3 4 2 2 2
16. 40% 21. 37
17. 15¢cm 22. 4 minusie80°%
18. 350 name cards 23. 80%
19. 3§75 24 37.5%
20. 0.05kg 25.  0.15litres
(26, 132,133 27. |4
28. 0.35 29. | 280cm?
30. 10 years old 31. 33% o
]
32. 42 tarts 33, 5
6
34. $640.00 35. (4:1
36. 3,4, 5 37a. |48 ~ 4 = 12
20+ 4 =5
=12 -5
= Tem
The different = 7em
37b. | 12 x 12 =144 (Y)
5x5=25(X)
144 + 25 = 169
The total area is 169cm? (Ans)
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38. 125+ 2 =125(W) 39, A: B :C
25+125+25+125 = 75 8 : 21 : 4
=75+0.6 =75.6 32: 84 : 16
75.6+4 = 18.9 16 = 4 x 4 (length of D)
32 + 4 = 8 (length of B)
The Iength ef each roll wire = 18.9m 84 + 8 = 10.5 (length of D)
=105x4 = 42
The area = 42cm?

40. | 640 — 140 = 500 41. | 6 tailors = 36 pants in 3 days
16u = 500 3 tailors = 18 pants in 3 days
4u = 125 3 tailors = 6 pants in 1 day
2u = 625 3 tailors = 48 pants in 8 days
10u = $312.5 (Benny) 9 tailors = 144 pants in 8 days
6u = 187.5

= 187.5 + 140 = §327.5 (Carol) 9 tailor can sew 144 pairs of pants in
8 days.
Benny had $312.50 and|Carol had $327.50
at first.
e 7 9 1

2. 116 16 16 43. |y sand =
9u = $54.00 isand = 8u
lu = $6.00 Tank = 1u
16 u = $96.00 8§ +1 =9

9u = 16.47
She had $96.00 at first. 4u = 7.32
=732 =2
=3 remainder 132
a. There were 3 2kg of boxes of sand.
b. 1.32 + 1.83 = 3.15
The mass was 3.15kg
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B 75 30 =225
4. | q00 XV T 4~ 45. 370 + 150 = 520
100- 30 = 70 40% = 520
1 10% = 130
105 + 225 = 1275
1275 - 100 = 275 a. He had $780.00 left
27.5% = 66
0.5% = 1.2 b. 1410 — 780 = 63 0
1% =24 30% = 630
100% = 240 10% = 2149
100% = 2100
There were 240 seats in the cinema at first.
His month salary is $2100.00
46. 156 =3 = 52 47. | 34u = 510
52 x 7 = 364 Iu =15
24u =360
a. There are 364 pears. a. James had $360 at first
. | e Iu = 15
b. 67(6+15+6+14)—H b. 4u = 60
Paul gave $60 to his father.
5 of the fruits are mangoesteens.
~T48:11. Pattern 5 (11)
Pattern 20 : (41), (61)
48b. 139 -1 = 38 (Ans)
There are 39 more in pattern 38.
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